13.20 The system shown is at rest when a constant 30-1b force is applied to

collar B. («) Tf the foree acts through the entire motion, determine the L\ T I ‘Mf ] oL - L
speed of collar £ as it strikes the support at C. (&) After what distance

d should the 30-1b foree be removed il the collar is (o reach support C

with zero velocity?
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13.175 A l-kg block B 1s moving with a velocity vy of magnitude vy = 2 m/s

/
as 1t hits the 0.5-kg sphere A, which 1s at rest and hanging Irom a cord M A vV, + ""B\/B = P‘,,Vp: e MD\/B
attached at Q. Knowing that g, = (0.6 between the block and the hori-
zontal surface and ¢ = (1.8 between the block and the sphere, deter- \|
minc after impact (a) the maximum height /i reached by the sphere,
(b) the distance x traveled by the block. pass / | v/
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